Math 030 Review Exam #2  Revised Spring 2010 RH/DM

1. Isthe ordered pair a solution to the given system of equations?

y:—2x+4} —x+2y:—7}

a. (-2,14 b. (5-1
( ) 6X+Yy=-2 ( ) 3X+6y=9

2. Use graph paper to graph the solution to these systems of equations.

Show your solution as an ordered pair. ( X,y )

y=3x—-2 b X+3y=9
2X+y=8 S 2X+y=-2
—_2y11 y=-x+6
c. Y773 d. ) 4}
2X+y=5 y=x=

3. Solve these systems of equations by the substitution method.

Xx=3y—-7 b y=-3x-7
4% +3y =2 C —4x-2y =12
X =-1 =—

C. ty d. ="y
x-y=11 2x—4y =30

4. Solve these systems of equations using the Elimination by Addition method.

2X+y=5 b 6x-y=-14
X+ 3y =-10 © 3x+3y=0

—Xx—y=-9 g 4x +2y =-10
—2x+3y=7 © 2x—4y=-10
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5. List the degree and coefficient of each term in the given polynomial.

a.  11x* —9x® +7x* —=5x b. -13y°>-8y®+15y-9

c. 8la®*-27a’-9a+3 d m*+2m?+4m-16

6. Add or subtract.
a. (8x3 +2x° —7)+(— 6x° —3x+1) b. (— y* + y—6)—(— y’ —3y+1)

c. (1x°+5x —9x)+(-6x° = 7x2 —4ax+2) d. (4x°+7x%)+(-x* - 6x)

e. (—9y2+8y—5)—(9y2—2y—1) f. (9y3—y2)—(y2+2y)
7. Multiply.

a. 12a°e-2a’ b. —4x®ex® e2x

c. 4y(7y-3) d. -5a?(2a’+a-3)

e. (x—7)x-5) f. (y-6)y-4)

9. (3x+1)(4x+5) h. (x—3)2x? +5x—8)

i. (6x-3) j. (2a-5)2a+5)

k. (x+7)x-7) l. (y+8)

8. Factor out the GCF:
a. 42x% —7Tx b. 24x? —8x
c. —18a°-27a®+9a? d. 6m’ +15m°® -12m? =21

e. 18m?n* —12m?n® + 24m?n? f. —15a°b? — 25a%b
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9. Factor completely.

a. X +4x-32 b. 4a®-24a+20 c. 25x*-16
d. x*—6xy+8y? e. 2x’ +9x+4 f. 2x*-18

g. x* —14x+49 h. 3x* -11x -4 i. 4x?-100

j. y*-10y+25 K. x> +x-72 l. 9a°-4

m. 6x*-13x-5 n. 4x°+15x+14 0. 18x*-8

p. x°—8xy+16y? g. 9y*+6y+1 r. y>+3y-28

10. Solve by factoring:

a.

3x(x-1)=0 b. 3x*+6x=0
2x* -3x+1=0 d. x*=-5x
8x*-2x-3=0 f. x> -2x=35
2x° +6x=8 h. 3x*+x-2=0

11. Write an equation and solve algebraically:

a.

b.

C.

Find 2 consecutive positive integers whose product is 210.
Find 2 consecutive negative integers whose product is 110.
Find 2 consecutive negative integers whose product is 132.
Find 2 consecutive even integers whose product is 120.

Find a quadratic equation with integer coefficients that has the given solution
set. {-5,5}

Find a quadratic equation with integer coefficients that has the given solution
set. {1, 4}
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1l.a) No 1.b) Yes 2.a) Lines intersect at 2.b) Lines intersect at
(2,4) (-3,4)
2.c) Lines intersect at 2.d) Lines intersect at 3a) (-1,2) |3b) (-1,-4)
( 31 -1 ) (5! 1 )
30) (2,-3) [3d) (5-5) |4a) (55) |4b) (2,2) |4c) (45) |4.d) (31)
5.3) 5.b) 5.0)
Term | Degree | Coefficient | | [Term | Degree | Coefficient Term | Degree | Coefficient
7 81a’ 3 +81
11x 4 +11 _13y° 5 -13
: 5 y —27a’ | 2 -27
—9Ox 3 9 3
+7x° 2 +7 —8y 3 ® —9a 1 -9
_ 5y 1 5 +15y 1 +15 +3 0 +3
-9 0 -9
5.d) 6.a) 8x® —4x? —3x -6 6.b) 4y-7
Term | Degree | Coefficient
m* 4 +1 6.c) 5x°—2x%-13x+2 6.d) 3x®+7x* —6x
+2m”? 2 +2
—am 1 W) 6.) —18y” +10y—4 6.f) 9y®-2y* -2y
=16 0 =16 7.2) - 24a" 7.0) —8x°
7.c) 28y°-12y 7.d) -10a* -5a° +15a° 7.8) x*-12x+35
7.f) y*>-10y+24 7.9) 12x* +19x+5 7.h) 2x® —x*-23x+24
7.0) 36x°—36x+9 7j) 4a*-25 7.K) x*—-49
7.1) y?+16y+64 8.a) 7x(6x-1) 8.b) 8x(3x-1)
8.c) 9a2(— 2a® -3a +1) 8.d) 3(2m7 +5m°® —4m? —7) 8.e) 6m2n2(3n2 -2n +4)

8.f) —5a’b(3ab+5)

9.a) (x + 8)(x - 4)

9.b) 4(a-5)a-1)

9.c) (5x—4)(5x+4) 9.d) (x—4y)(x—2y) 9.e) (2x +1)(x+4)
9.f) 2(x+3)x-3) 9.9) (x—7\x—7)or (x-7F |9h) (Bx+1)x-4)
9.i) 4(x+5)x-5) 9.j) (y-5)y—5)or (y-57 |9k (x—8)x+9)
9.) (3a+2)3a-2) 9.m) (3x+1)2x-5) 9.n) (4x+7)x+2)
9.0) 2(3x—2)3x+2) 9.p) (x—4y)x—4y)or 9.9) (3y+1)3y+1) or
(x—4y)’ (3y +1)

9r) (y+7Ny-4) 10.2) x=0 and x=1 [10b x=-2 and x=0

1 10.d) x=-5 1 3 |10f) x=-5 ]109) x=-4
1O'C)X_E and x=0 10.e)x-—§ and X_Z and x=7 and x=1
and x=1

_ _2 11.a) x=14and 11.b) x=-11 |1lc) x=-12
10.h) x=-1and x= 3 X+1=15 and and

x+1=-10 x+1=-11

11.d) x=-12 or x = +10 and
Xx+2 =-10 or x+2 = +12

11e) x> -25=0

11.f) x> -5x+4=0
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_3x—2 3y =9
20 22) )= (2,4) Co2p) Y (-3,4)
2X+Yy =28 2X+ Yy =—
y
\
\
/ —
1 / : ) 3 ) :
2y y=-x+6
20) Y773 (3,-1) 2d) 7~ 4} (5,1)
2Xx+y=5 y=x-




